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QUESTION 1

A customer\\'s production database resides on another storage vendor\\'s array. The customer needs to create multiple
copies of it for Test and Development. The customer asks you to propose a solution. Which NetApp software products
should you recommend?

A. SnapMirror and FlexClone

B. SnapMirror and FlexShare

C. ReplicatorX and FlexClone

D. ReplicatorX and FlexShare

Correct Answer: C

QUESTION 2

Which process accurately describes NetApp Snapshot copies?

A. copy incrementally changed blocks to secondary disk

B. copy all blocks to the Snapshot Reserve when snapshot is taken

C. store pointers to data block write changed data to new locations

D. store pointers to data blocks write original data to new location when changed

Correct Answer: C

QUESTION 3

What are three advantages of using NetApp for IBM Rational ClearCase? (Choose three.)
A. It supportsiSeries.

B. It supports mixed UNIX and Windows environments.

C. It provides high availability of VOB data and cloning for test, development, and upgrades.
D. It provides ability to spread a single aggregate over both SATA and FC drives.

E. It provides superior backup capabilities (SnapMirror, SnapVault, NDMP).

Correct Answer: BCE

QUESTION 4

Which two Data ONTAP products or features benefit a customer running an Oracle decision support system on Linux?
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(Choose two.)

A. CIFS

B. FlexVol

C. SnapValidator

D. Virtual Local Disks

Correct Answer: BC

QUESTION 5

Your customer has a data warehouse running on Microsoft SQL Server. It has grown so large they can no longer back it
up within their maintenance window. What NetApp product would help your customer back up their data?

A. SnapValidator for SQL Server

B. SnapManager for SQL Server

C. SnapManager for Data Warehouse
D. SQL Server Operations Manager

Correct Answer: B

QUESTION 6

In a FAS CIFS consolidation opportunity, which two products could be positioned to add disaster recovery value?
(Choose two.)

A. SnapMirror
B. ReplicatorX
C. SnapMover D. Virtual File Manager

Correct Answer: AD

QUESTION 7

SnapMirrorreplication is implemented at which two data levels? (Choose two.)
A. LUN

B. Volume

C. Aggregate

D. Qtree
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Correct Answer: BD

QUESTION 8

When maximum storage capacity is reached with a single midrange FAS controller, the simplest way to scale to a
higher capacity is

A. an upgrade to a clustered controller pair
B. a data migration

C. a head swap

D. aNetApp services engagement

Correct Answer: C

QUESTION 9

Which type of storage should be used for a large Exchange deployment with the majority of users who make many
modifications connecting during the day?

A. Fibre Channel disks for both data and log files

B. high density SATA drives for both data and log files

C. Fibre Channel disk for the data files and high density SATA drives for the log files
D. The choice of disk is irrelevant in this deployment.

Correct Answer: A

QUESTION 10

FlexShareis a Data ONTAP software feature that provides
A. automatic share creation when volumes are created

B. simultaneous access to flexible volumes

C. multiprotocol access for Windows and UNIX

D. workload prioritization for a storage system

Correct Answer: D

QUESTION 11

A potential customer has a large number of Windows servers that provide shares to the customer\\'s employees. Which
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two business benefits can NetApp bring to this customer? (Choose two.)
A. reduced number of Windows Server Licenses

B. reduced number of Windows servers to administer

C. file compression D. reduced number of Windows domain controllers

Correct Answer: AB

QUESTION 12

Which statement is true about LockVault?

A. It provides a fast, centralized, andcosteffective disktotape backup solution.
B. It is a compliance and data protection solution for unstructured data.

C. It allows administrators to delete entire volumes.

D. It can useNearStore VTL as a compliant destination.

Correct Answer: B

QUESTION 13

What happens to the SnapMirror function in synchronous mode when the mirror fails to complete in the specified

parameters?

A. The SnapMirror function stops.

B. The SnapMirror function becomes asynchronous.

C. The SnapMirror function drops the current blocks and continues.
D. The SnapMirror function switches to vaulting mode.

Correct Answer: B

QUESTION 14
A RAIDDP group with no failed disk drives has how many parity drives?
A.0

B.1
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Correct Answer: C

QUESTION 15

Which two products are likely to be used in a NetApp solution for digital video surveillance (DVS) environments?
(Choose two.)

A. Data ONTAP 7G
B. FAS storage

C. ASIS

D. SnapValidator

Correct Answer: AB
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